MULTIFEEDER ¢
Assembly Instructions

. “-----'|

I

NOTE: Please use this set of assembly instructions, if there are other

instructions inside the box, please disregard them.
Parts list:
2 x Wall end panels
2 x Leg frames
2 x Hay grates
2 x Lower braces
1 x Feed tray
2 x Leg joiner sets

Accessories Kit:

1 x Pair Safety Gloves

16 x 25mm M10 bolts and nuts
4 x 55mm M10 bolts and nuts
8 x 50mm M10 bolts and nuts
56 x M10 washers

2 x Spanners

NOTE: Ensure to use safety equipment (safety gloves) when assembling this unit and employ a 2-person lift where
required.



Assembly Instructions

Step 1.
Select an area as flat as possible to assemble this unit. Assemble the 2 legs by matching a left and right piece, ensuring
both tabs are facing UP. Insert one end of the joiner into one side and secure with 2 M10 x 50mm bolts. Slide the
larger sheath over the joiner and secure the exposed end of the joiner in the other side of the leg, using 2 M10 x
50mm bolts. Repeat for the other leg set and tighten bolts firmly.

Step 2. Lay 1 end panel flat with the tab side facing up. Attach the 2 x hay grates using M10 x 25mm. Ensure the nut
side of the bolts are facing UP (facing the same way as the tabs). Then attach the other end panel in the same fashion,
ensuring the bolt side of the nuts are facing DOWN (facing the same way as the tabs). - Finger tighten bolts only.

/AL LN
\ %

facfing UP

Step 3. Insert the feed tray with the shiny side facing UP and screws underneath when standing upright. Secure with
M10 x 25mm bolts and ensure the bolt threads are facing INWARDS. This is designed to be a snug fit - if need be,
loosen off the bolts on the 2 hay racks to allow the feed tray to slide into position, then tighten all bolts firmly.




Step 4.
Insert the legs to the desired height and secure with M10 x 55m bolts. Then fix the 2 x lower braces in place using M10
x 25mm bolts and ensure the bolt threads are facing INWARDS.

A'SERR™ AN 4'qERRY 1N

Carefully stand the feeder up on flat ground and re-check all bolt threads are facing INWARDS. Complete a final check
to ensure all bolts are firmly tightened.

LT T T T T

Tl

Notes:
e Only use the feeder at the higher height settings on flat ground
e Ensure all bolts are tightened firmly to ensure structural rigidity



